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BEYOND overview for Year 8
NUMBERS

Year 8 — Proportional Reasoning|: PSR, | | e ing onc | SR
Multiply & Divide Fractions | Bael| | =rmomec | seonme

What do | need to be able
to do?

Numerator - the number dbove. the ine on a fraction The top number Represents how many parts are taken
Denominator: the number below the Ine on a fraction The number represent the totdl number of parts
Whole: a positive number ncluding zero without any decimal or fractional parts
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By the. end of i it uou shoud be et Commutative: an operation is commutative if changing the. order does not change. the result :
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| Ao v roAiAcbon or ko | | Unit Fraction: a fraction where the numerator is one and denominator a postiive integer
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usig fractions and tegers Non-unit. Fraction: a fraction where the numerdtor is larger than one

*  Soltions can be modelled, deseribed and

Dividend - the. amount. you want to divide up
regsoned

Divisor: the. number that dvides another number ( l D

Quotiert: the answer after we divide one number by another. eg diidend- divisor = quotient
1 1 Reciprocal a pair of numbers that mutipl together to give |
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! Representm a fraction II Repeated addition = multiplcation by an inteaer Revst
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How many parts are shaded?
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Number of parts represented :
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What each part represents |
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Numerator | | |
11 Integer
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parts n the dagram

I I
I I
| |
| |
| |
|ModeIIed: ~ I
| |
I I
| |
I I
I |

3x 1 = Reciprocaks for divison
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gves the
| Quick Soking X 4 =2 e
| Mutipl the numerators bt . L I 5 0 outeome
| Mitipy the denominators Ll g 5

There are 4 quarters in
| whole.
Therefore, there are 20
quarters in 5 whokes”
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How many quarters A= I— = 20 ||
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